A phép trir phan s6 (phan s6 thich hop) (phan s6 khong
Ly a0
ung)

Tén: Ngay thang: Piém:
43 4_4_
5 5 3 9
T 7_1_
2 6 59
T3 7_2_
4 8 6 9
72 3 4
3 6 2 7
T3 2_3_
5 7 3 8
> T_ > 3.
4 8 2 6
4 1 4_1_
5 4 3 3
7_2_ 7_1_
6 6 8 5
T3 2_1_
9 9 4 3
7ol 7_2_
9 8 2 7
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% % g%} phép trir phan s6 (phan ;?1 r‘il;ch hop) (phan s6 khong
Tén: Ngay thang: Piém:
4 3 1 4 4 8
5 5 5 3 9 9
7771 7 1_58 13
2 6 3 3 5 9 45 45
7.5_9_ 1 7 2 17
4 8 8 8 6 9 18
72, 3 4 13
3 6 2 7 14
7 5 24 2 3 7
5 7 35 3 8 24
573 5.3,
4 8 8 2 6
4 1 1 41
5 4 20 3 3
7 2 5 7 127
6 6 6 8 5 40
7 5 2 2 11
9 9 9 4 3 6
7 1 47 7_2_45_ 3
9 8 72 2 7 14 14
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